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1. Friedman measured "permanent” income by assuming that people adjusted their consumption on the basis

of
1. an "error learning" process with respect to their expected income. n?i:‘:;':“ ‘
. . . : A < Suk
II. an adaptive expectation formation of their expected income. =z ;
TI1. transitory income and the level of income expected over a period of years in the future. __j’,ﬁ- .
(A)L (B) I (C) WandIl (D) landII (B) 1-1landIIl /ff _




-

B R A BIBE AL UNGRAK

el AREEMRAELY AEERe  #B8 CARERE £ é.g A 2.2 ®
XEARELESLE (F) RHES

2. Market prices are used to measure each final good included in the GDP. Therefore, the GDP
well-being if
(A) overstates; pollution results when the good is produced.
(B) understates; pollution results when the good is produced.
(C) exactly states; even though pollution results when the good is produced.
(D) overstates; rich people buy the good.
(E) understates; poor people buy the good.

3. Assume that the level of autonomous consumption in an economy equals 400, the level of planned
investment = 200, G =0, T = 0, NX = 0, and the marginal propensity to consume is 0.6. What is the level

of consumption when the level of income equals 2,000?
(A) 600 (B) 1,000 (C)1,400 (D) 1,600  (E)1,800
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4. According the figure above, the money market is initially in equilibrium at point G and after the economy
moves to equilibrium, the Federal Reserve increases the money supply by 500. We would observe
(A) the interest rate first rises to 7.5% and Y to 3,500.
(B) the interest rate first rises to 7.5% then falls to 5%.
(C) Y rises to 4,000 as interest rates remain stable.
(D) the economy moves from point G to C, to F then D.

(E) non of above.

5. Suppose we have an economy in which government expenditure (G) = 1100, tax rate (t) = 0.26, output (Y)
= 13800, and natural output (Yx)=4000. The natural employment deficit is ‘
(A)840 (B)286 (C)60 (D)200 (E)-112

6. Suppose that the Taiwan’s authority devalues the NT dollar by 10% and maintains the new rate by
intervening in the foreign exchange market. The of will , ceteris paribus.

(A) supply; NT$; increase (B) demand; NT$; decrease (C) supply; NT$; be unchanged

(D) supply; foreign currencies; increase (E) demand; foreign currencies; decrease
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7. According to Pigou, the Keynesian dilemma of a vertical AD curve is not a dilemma at all because the
demand for commodities depends directly on the level of real balances. Thus, the
(A) IS curve would shift tov the left whenever the price level falls.
(B) LM curve would shift to the right whenever the price level falls.
(C) AD curve would shift to the left whenever the price level falls.
(D) AD curve would shift to the right whenever the price level falls.

(E) AD curve would always have a negative slope.
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8. In the figure above, from initial point A in the top diagram ADj shifts to AD,, while at the same time the
nominal wage rises by 5 percent. Short-run equilibrium occurs at point

(A) G. (8) B. © C. ®) D. (B F.

9. Change in "total factor productivity" may be explained by

I the relative rates of growth of crime and pollution control measures.

I1. changes in the scale of production.

II1. changes in the quality and composition of the labor force.
IV. changes in the quality and composition of the capital stock.
A 1 B) I (C) I (D) IlandIII (E) I-~MlandIV

10. Which of the following policies have been suggested as ways to boost the growth of productivity?

I. tax cuts to boost saving and investment

II. reducing the budget deficit by raising taxes and cutting expenditures

HI increasing public investment in education

IV. redesigning and scaling back the regulatory apparatus of the federal government
(A)I~land IV B)I[-1I-and IV (C) TandIII D)landll (E)I
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11. The use of bar codes, computerized price lists, and scanners in supermarkets is an example of
(A) menu costs. (B) implicit contracts. (C) efficiency pricing. (D) all of the above

(E) none of the above.

12. In the RBC model, an adverse supply shock causes the decrease in natural real GDP to be minimized when
the labor supply curve is
(A) downward sloping and extremely flat. (B) downward sloping. (C) upward-sloping.
(D) vertical. (E) flat.

$Billions
Actual Sates
12
10 /Expected Sales
8
6 Gross

Investment

4
Replacement
2 » Investment
1 2 3 4 5 ; ‘
. Cp i
Periods ‘f;—;'
S
13. In the figure above , the increase in gross investment lags actual sales because ?,,ﬁ_
P
(A) replacement investment is not determined by actual sales. e
(B) expected sales lag actual sales and net investment is determined by expected sales. :
(C) actual sales lag expected sales and net investment is determined by expected sales. , ;ﬂ
' (D) expected sales lead actual sales and net investment is determined by expected sales. i

(E) non of the above.

14. A principle difference between the original Keynesian model and the new Keynesian model is that in the
new version
1. consumer has a forward Jooking behavior.  II. monetary policy is impotent.
111. wages and prices adjust endogenously and slowly to market conditions.

IV. the traditional assumptions of profit maximization is no longer included.
(A) I B) TandIl (C) IandlIl (D) landlV (E) I-~Ilandll

15. A supply shock, such as the OPEC oil-price increases in 1973 and in the 2008,
L can lead to accelerating inflation, if an accommodation policy tries to maintain the pre-shock level of

real GDP.

1L. will cause lower real wages in long-run equilibrium. IIL. will reduce the natural level of real GDP.

IV. will cause higher unemployment rate in shot- run equilibrium.
(A)land I (B) Tand I (C) HandIl (D) UandlV (E) I-~IHlandIV




